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1, 0, 5 TUT 7 HT TAWT

Il I HIH TSHHEAT TATC
Find th a[ggst%-ﬁgit number using
the digits 1, 0, 5 and 7.

(A) 7051
/510 (B) 70510

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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20.91 + 0.17 FT AT §-

(The value of 20.91 + 0.17 is)

122 ST.o1.9.9. 1999

8340100 ’

— |74 —~ THL (1) 0.0123
0/33\ .9*4 FA160 (2) 1.230

M (3) 12.30
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@ 1.25 DI IR fis A Tefer-

(Convert 1.25 to simplest fraction-)
|

Q S
KD - == (A)E
100 =
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! (1231 X 1f X 1Z X 1119) ?WU%H#
Y RARTXO .ﬁ%%
((The unitsidigit in the product of (1234 x

_\ 12 x 17 x 1110) is-))

\7 (1) 7

Unit diy 4
it/ (3) 3
4)0

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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&

qiROTTH &1 g 2

J (What will be the result of solving

3 1 3, ,36 16
| Y Y Uyey
(7+7 7)x(7 7)’

7 " 7.8

(@) =2 (b) = () = (d) =
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- o Tl 7500 K a?r
Y =

P. ﬁ::znl aﬁ 31=r m§ %TSOO i) a%r

fordeqr amsT g1an?

Q:WH = 150 (A man purchased 2 machme for Rs 7500 and later

sold it at a‘profit of Rs 750. If he had sold the
850Q, how much more proflt)
S would he have made?)

RSoe (HA.A9.9. 1999)

1500 (1) 750 .

machine forKs

/"762 (2) 250 .
. (3) 1000 .
(4) 500 %.

IHOF I F AT 370 daX 7602310280 9T IS Y
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HrHAT (Monday) S8 8O
HETAW (Tuesday) 88
+ = W (Wednesday) | & Lgé\gg‘-:?-ﬂ
TEAW (Thursday) S8
I (Friday) * SERSED!
1= (Saturday) q & &

(A) BIHER (B) HIFER(CIIHUAR (D) TFAR

IF FFTHFR F AT 37 F97 7602310280 T HIF FY
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3 -
Z@ An angle measure - o)f 60°. What is its
| S — - 4
4 )60
SAVE..
/

_complementary angle?

Y90’
g0 TP 60° HT > ¥| FHHT T HI0T FATY

E;;?g - Ys 96 (A) 30°
- _ L (B) 60°
35 L(cf 45°

(D) 20°
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- Tab\clm
2 € Q.9 The sum of the first five multiple of 6
- -
| 2 " ugs + ok
g 6 & TUH UT (VTSI T J1T FAT 82
Y C+134[RY¥RAY+3D = (A) 80
3 (B) 84
e
(D) 96
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Q.10 If the ﬁrea of a squar@ plot is 400

square meters, then what will be its

perimeter? U&h| TSR Tellc FT SAHd
400 T HIeX @, df Id130 SAHT
IRATT fhdar gem?

Oiea of Sguare = Yoo q‘fcm ia{A) 75 meter (FﬁET)
) :VOG - :X‘S’" LLB’YSO meter (Fﬁ?.'{')

% N 0% R 2+ (€) 70 meter (HeX)
U (D) 85 meter (HIeX)

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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cLass
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